R = B division des fractions ( fraction appropriée ) (
&% = G’ fraction impropre )
Nom: Date: Note:
7T 2 4 5
9 9 8 6
4 6 1 2
5 7 6 4
2 6 5 6
35 39
6 1 7 3
9 7 9 7
3.5 1 3
5 7 9 7
2 2 2 5
6 9 3 4
1 7 2 6
4 2 3 4
2.2 7.2_
9 4 5 7
3 4 4 5
7 8 3 8
1 7 I 1
3 2 55
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R =P division des fractions ( fraction appropriée ) (
% =] 0’ fraction impropre )
Nom: Date: Note:
7;2_7_31 4 5 3
9 9 2 2 8 6 5
4 6 14 12 1
57 15 6 4 3
2 6 5 5;6_5_£
3 5 9 39 2 2
@;y_m_42 7_3_49_32
9 7 3 3 9 7 27 27
3.5 721 . 3_7
5 7 25 9 7 27
2;2_3_11 2 5 8
6 9 2 2 3 4 15
1.7 1 2 6 4
4 2 14 3 4 9
9 4 9 5 7 10 10
3. 4 6 4;5_32_22
7 8 7 3 8 15 15
1.7 2 1;1_1
372 21 55
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